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22 7

-2 22 7
(TPm) (mm/hr) (TPm) (mm/hr) (TPm) (mm/hr)

7 12 10 2.94 0] 7 13 10 2.70 3] 7 14 10 5.03 6
7 12 11 2.69 0] 7 13 11 2.99 41 7 14 11 5.40 6
7 12 12 2.36 0] 7 13 12 3.03 41 7 14 12 5.47 3
7 12 13 2.10 0] 7 13 13 3.01 0] 7 14 13 5.41 0
7 12 14 1.90 0] 7 13 14 297 1] 7 14 14 5.14 1
7 12 15 1.72 0] 7 13 15 2.99 100 7 14 15 4.87 0
7 12 16 1.63 0] 7 13 16 3.17 3 7 14 16 4,55 0
7 12 17 1.57 0] 7 13 17 342 21| 7 14 17 4.29 0
7 12 18 1.48 0] 7 13 18 3.48 1l 7 14 18 4.06 0
7 12 19 1.38 0] 7 13 19 3.42 1] 7 14 19 3.65 0
7 12 20 1.40 0] 7 13 20 3.33 1l 7 14 20 3.42 0
7 12 21 1.70 0] 7 13 21 3.25 1l 7 14 21 3.27 0
7 12 22 2.19 1] 7 13 22 3.23 41 7 14 22 3.16 0
7 12 23 2.30 3 7 13 23 3.25 71 7 14 23 3.09 0
7 12 24 2.00 1] 7 13 24 3.23 1] 7 14 24 3.06 0
7 13 1 1.55 0] 7 14 1 3.20 1] 7 15 1 2.94 1
7 13 2 1.18 0] 7 14 2 3.14 2| 7 15 2 2.74 1
7 13 3 1.03 3] 7 14 3 3.21 5] 7 15 3 2.58 0
7 13 4 0.97 1l 7 14 4 3.33 8] 7 15 4 248 4
7 13 5 1.04 16| 7 14 5 3.33 6] 7 15 5 243 1
7 13 6 1.30 28| 7 14 6 3.30 41 7 15 6 2.37 1
7 13 7 1.77 28| 7 14 7 3.35 8l 7 15 7 2.33 2
7 13 8 2.21 211 7 14 8 3.62 10f 7 15 8 2.28 0
7 13 9 241 41 7 14 9 4.22 31| 7 15 9 2.22 0
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